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1. Introduction  

1.1 Molecular cloning technologies 
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1.2 Error correction technologies 
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1.3 Genetic manipulation of protein expression  
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1.4 Codon usage and protein expression regulation  
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2. A novel method for cloning of gene libraries and  
multi-DNA fragment assembly  

2.1 Introduction 
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2.2 Materials and methods 

2.2.1 Reagents and equipments 
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� ��C������������

�������������D�����	���������<������
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E. coli GC5 or DH5�  competent cells were used for all CPEC clonings. LB 

(Miller) agar plates (Sigma) with appropriate antibiotics were used for culturing bacteria 

after transformation. Antibiotics were used at the following concentrations: carbenicillin 

(Cellgro) 100 µg/ml, kanamycin (Sigma) 30 µg/ml, and chloramphenicol (Sigma) 20 

µg/ml. ���	���������<������
�$9�����
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2.2.2 Reagent setup 
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2.2.3 Design of overlapping sequences between vecto r and insert(s) 
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2.2.4 Preparation of linear vector  
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2.2.5 Preparation of inserts  
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2.2.6 CPEC cloning 
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2.2.7 Multi-cycle CPEC for library cloning 
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2.2.8 Combinatorial library cloning 
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2.2.9 Multi-way CPEC 
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2.2.10 CPEC product gel electrophoresis 
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2.3 Results 

2.3.1 CPEC cloning of a single gene 
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2.3.2 CPEC cloning of a gene library 
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2.3.3 CPEC cloning of CPEC cloning of combinatorial libraries  
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2.3.4 CPEC cloning of multi-component pathway 
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2.4 Discussion and conclusions 

'���&����
���������������
�����������������	�	����
�������� 	�
������������	��

���

���	�������	����
������	
��������������(����������	 ����������	�����
��������

����
���	6�:����	���������	������������������������	��������( ����������
���	��������	�������

�������������������������������(�������
��������	������	����	 ���������
�����!���������

�(����������������	������������
����������������
���
��� ������	
��	�����(�������
�����

���&���������	�����6���������
����
������������������	� ����������	
��	����������

����������
����������������� ����	�
 �����	�-������������&	�����	������������(������
����	���

���	
��	��������
��6�����
�	��	�������������(������	������������ ������������
��

���������
�����(��������������	���������(���		������
� ����������
���������-�
��		�
��
6�

<�����������	������������������������������������������� �����	�����
�����	�

	������������������
����-��������������
������������(��
���� �	6�<���������
���������

-�����	������������
���	���������	���������������������� �����������
������������

��
������
��������������
������������	��������0�����(������ ������������������������
�


���������
���	����
���
�!��������������
������������	����	 ��������-��������	����

����		�(���
����	����(������$9�6�/������

����1G?��
���	������� �������������
�



�

>B�

��
������
6�<���
���������
�������������?G1?��
���	�
�
�����	 ��������������������

��
�����������
���	6�

'���&����4��������	���������
�����������������		������������ ���-��������

����
������
�������	6���-�(��������		�(����
���	�����
���	 �	����������(���������

���������
���
�!����		������������
������
�����6�:����	�	�-� �����������
��	�
�
�

���
�����������������������
�-�����������	����������� 
���������������	���������
��	�

�	����
����������(����������������
���
�����
����	������ ������������������!����������

����������-�����������
���(������
����	������	
��	��������� ���	6�

 ��
���4����

���	�	�-�������	��������	�����
��������(��
�	 ����������	������

�������������	�����(����������������
������
���������������� ���������������	6�=��
����

������

�������
��(����������4����

���	�	��������������	�� ������
6��������	����$9��

���

���	��-�	��	���������	�	���
����������	�����	���		��	� ���������������
6�����

������������������	�
�
��������������7�	����������������

 ���	�	������	�����	�������
�����

�����	������
�6���4����

���	�	�-������-����������
������ -��������
�	����������(������

������
�����������������	&	��	��������6���
���������	�0����� �������������������


�����	��	�����	����	��
���������
���	������������������ ���	����	������������
����������

�������	�������(������������
����������������
�-������	���� ����	�0������7�������	6��

��
���������������	�0��������������������������
�����	�� ���������������

��7�
������������������������	������������	�������	������ �������(������	6�<��	��������

���
�����	�����������	���	������!

�	���0�������
������ �	�0��������������������������



�

>F�


�����	�������������	������	��������������	��������������6�< ������
��������+:���

�(����������	�0�����	����&������������������9����������������� �����	�����
���4�����

��
���
�����
�31����	������	��������������	��������������� 	������������(����������

�����������
��@�$9�����

���	�������
��������������	��������� ����������������9��6�:��

'$����	���
�����	�������������������'��������	������������� �4����
��	��	����������

�(����������	�0�����	����������	��������	��	�0����������
� ���-����'$����!

��

��������	�	������	�����������	���������������	������������( �������������������6�:���+:���

�@�$9�����

���	�������
�����������
��������4�-�����-������	�� �����
��	������	������

���������
������������	������������		��(����������������	 6�:���:����������������(��	����

�������
��������4��	��	���	�������	�
����4��������	���������� ���
��������������

�������������(��������������	�	������	��������������	���- �����������	6����	��������

������������	���	���&��
������
���
����$9�������
��
���0����� �����������	�(��

��!

�	�����������	6�:��������	���������	�	��������	������� ��(������������	���	�����

(�������������
�-���������
������
���6�����-�����	�������
 �������������������������

��
����������?
�����	������	�	����
�����4����

���	���
�&����� ���������������
�	��

���(�������������
���������(��	��������������
�����	��-� ����������	�������	��
���������

���������������������������6�

������������������(����������������	���	������������������ ���
��������������
��

-�����
�&�	�������0���
�	��������������
��������
������� �����
���������
�������
�����

������
��������6�:�������������(����������������	��
�������� 
���	�������	�����������(��



�

>A�

	�
����������
���������
��������	�C�
������
�??GF2�Z�D�	��� ������������-��������
���	�

�������(��
�	�������6����	��	�
�	����	�������������
������� �
��������������
���������
����

��������-���������	�������������������������	������������ ���	6�:���	���������������������

�
������
�E?G322K��������������������������	�������������������� ���	���	������������


�����-�
��		�
��
6�����������	�0����������������������� ���
�����	��	���
������

������������
��������	�������	�����	���������	���������
�����	�� ��		���������
�����-�
�

���������������	�����������
���
���
�	��6��

��������������������������
�����������	�������
�����
��� ��-�
������
�����������
�

�����������
�	����
�����
�������������-��	��������������	6�<� �	�����������
	���(������
�

7��������
���������	
��	� 
���
��	 6��������
��
��������������
���	��������(���������������

������������
�������6�:��������	�������������	�0����������� ���������������
�����	��������

���	��
������������
���	�-���������(���������������������-�� ��
���	
��������������������

����
���	�������
����	
��	��������������-����������
����
�� �������
�����
�����!�����6�

/����������	������
���	�������
����������
����������������� 
�������������


���������
�������������-�
��������-��&��		�
��
��-�������� ������������
���

	�������������������(�����	������������	����	
������������� �
6�:��-���������������������

�������������������	��������������
�������������������	 ��������������	���������-�
	6�

:��-������	�������������	�������	����
�������	�������
����� 	�
�����(��
��
���������

��	&	6�



�

>E�

:��������	����������������������	������
���������
���	������� �����	&	������������


���
��	 ���������
�����	�����������
�������
����	���(�����
������
�	 ���(��
��	������

�����������������
�����������
��	�����������	��H@@��?>I6��� -�(���������	���������������	���

��
�������	����$9�����

���	�����������(�����������	����
���� ���-��������������������

-���������
��	��������	�!������������	
�������������������
�� ���������
���	�������������

�		�
������
������������������������	��(��������
���	���(� �������������������
����

���	����
��	6���������-����(����
�������
��		�
��������A6@�&� ����	
����	�����������4�

����
���	����>�1A2��1�E?E��1�2@F�����3F3����H@@I6�/����������������
�!���� ����������

�������	��	�������	�12�&����(����������	���������	�����(������� ����	������4�H@AI��

-������������������������������
������������
�����������6�����		 �
�����������

���	�����	�-����
��������
���	�� 
���
�	 ���
������	�����
���������
�����	��	����
��	��

�	�����	��������	
�
�
��������
�����H?@��??I6



�

@2�

3. Error-correction in gene synthesis and optimizat ion 
technology  

3.1 Introduction 
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3.2 Materials and methods 

3.2.1 Reagents 
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3.2.2 ECR of assembled genes  
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3.2.3 Cloning, sequencing and functional analysis o f synthetic genes  
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3.3 Results  

3.3.1 General design of the ECR using Surveyor nucl ease 
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3.3.2 Determine error frequency of on-chip gene syn thesis 
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3.3.3 Reduction of error frequencies after ECR  
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4. High-throughput protein expression screen strate gy 

4.1 Introduction 
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4.2 Materials and methods 

4.2.1 Oligonucleotide synthesis   
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4.2.2 Combined nSDA-PCA reaction for on-chip oligo amplification 
and gene assembly  
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4.2.3 Enzymatic error correction   
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4.2.4 Construction of a synthetic lacZ�  gene library  
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4.2.5 Evaluation of the expression levels of synthe tic lacZ�  gene 
library 
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4.2.6 Plasmid library construction using CPEC metho d �
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4.2.7 Protein expression screen �
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4.2.8 Cleavage and purification of transcription fa ctor–GFP fusion 
proteins �
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4.3 Results  
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4.4 Discussion and conclusions 
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5. Screening and optimization of synthetic long gen es  

5.1 Introduction 
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5.2 Materials and methods 

5.2.1 Reagents and primers  
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5.2.2 Oligonucleotides and genes 
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5.2.3 Polymerase cycling assembly (PCA)  
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5.2.4 Polymerase chain reaction (PCR) 
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5.2.5 Plasmid library construction using CPEC metho d 
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5.2.6 Plasmid PCR 
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5.2.7 Sequencing preparation and sequencing 
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5.3 Results 
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6. Discussion and Conclusions  
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Appendix A 

Supplementary sequences 

Chapter 2 
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